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PREVIOUS PAPERS

IPE: MARCH-2019(TS)

Time : 3 Hours ﬁt%é‘iﬁllﬂﬂ - 2B Max.Marks : 75
2ES-2
I & (8od o) 08k S&rerd (RHH Jdrgrlo @ohod: 10 x 2 =20
1 2x242y2 =7 %8550 G S008I0 SE0EBesen EoMFRo.
2. x2Hy2=35880 83 (1,3), (2,K) e dodiomeen eand k dend dos?
3. x2Hy2Hax+6y-T7=0, 4(x2H+yD+8x+12y-9 = 0 &3 Smpe Sworer $D0Emsn SO,
4. y-2x+5=05% Sdrodborr &) HorHecho ¥ = 4x @) ©foon $EEER0 BHKN.
5. 2.8 ofdordechy) 63&0@56 5/4 0P, e éoo‘ﬁ»ﬁ& @dHTPIHo éé&o@sé EoAP0dm.
1+ cos’x
. —d ) e edx .
6 jl—cost X% Hdosod. 7 Jxlogx[log(logx)] % Kool
a 5 /2 d 2
8. [(Va-vx) axriosion. 9. [ cos'xdxi riSosos. 10, —F="Tarorm A S
0 0
ES-D
L (8od &S DI o Byeydsressd (BhHe dEreese @@ahod. 5x4=20
1. (2,3) oo sotwr x2+y2—dx+2y-7=0 580 comor™ polod K $Edwo EHE8.
12 y=mx+cod 5858 x> +y>=a> oF HES0 A, B dothide S8 polothd. AB= 2\ 900
(@>—A?) (1 +m?) =c? & 5008,
13, = S=(1,~1), e=2/3 b0t ks x+y+2=0 oo B 680mo ST,
14, 2x243y2=11 855)m08 y - AdrHB0 1 1 Ko Hobride H KsBren, oooadae Hiossmres §58%08.
15.  x?dy?=4 o wssoesoaho Bolfo, 6HOES, TFHe, IEHES B $DEBw0, THoow0 FEHOK SR,
2 dy 2
16. J sin4xcos6xdx 3 KBoSob. 17. cosx.d— + ysinx = sec”X & FHohsm.
X
0 ES-D
m. (§od =&&® HID ok 5&5»:6;6?:?26 BHod SSrgeo (Frahol. 5 x7 =35
18. (9,1),(7,9),(—2,12),(6,10) dothoyen SBctren @ 5%, 8 HotHHe KHomRBEDH 9B 3808 Geatn EHFAK.
19. xX*+y* = 14x+6y+33=0,x>+y*+30x -2y + 1 = 0 Hzeod reord edpyd @6{28&3@ AcDHBS) @ SrHod.
20, SHoesechsn y2=dax & 2 Dot P ood ADS gBnes ©E0ns® 01,0, Semres Tamon. cotB+cotd,
Qend ?géo d ©ond werod P e &8s Jhrosy 38\0@ &0 SrHod.
21. jeax sin(bx +c¢)dx;(a,b,ce R;b#0)on R & 5dBoSod.
22. &% grgpogo n22, 1, = J.COtnX dx & e3eEsen drEQ) Tragos. Tl &Hod [cot? xdx Devs SINToN
T
7 6 dy 2y+x+1
23. J‘XSIH X.008"X dX 5, k80508, 24, T T ;& rHoBod.
0

dx 2x+4y+3
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SOLUTIONS

DER-
1. 2x2 + 2y2 =7 a’aaééw &»é&_ Joendh B os8eren Eoidodm.

2
y 2, 2_71_[]7
Sol: &) HER) (@PErdE Erdod® wabmre X7 +y” = >3

- Bolgo (0, 0), a"é@”go r= \/g

X2+ y2 =12 @) Hoe8ah HabBBesren X =1 cos 6, y =T sin .
7 7.
=xX= EcosG,y: Esme, 0<06<L2n

x2+y2=35 Hfo §aF5 (1,3), (2.k) & Dodknrmmen wond k Dend do?

Sol:  S=x2+y2=35 o &aks (1,3), (2,k) e Sochormen=> S1, =0
= X1X2+ylny35:0
= (1)(2)+(3)(k) =35=0

= Bk=35 =k=11

x2+yZ+dx+6y-7=0, 4(x2+y2)+8x+12y-9=0 & Sorery BEo8Seren ESfPSo8.
_ 2 L2 2 9 _
Sol:  S=x“+y“ +4x+6y-7=0,S'=x"+y +2x 43y 4—O

Soreerg 38800 S—S'=0

:>(4—2)x+(6—3)y+(—7+%):0

:>2x+3y—%20:>8x+12y—19:0
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4. y-2x+5=03% Sdrodborr &) émjmﬁ'o Y =4X Gof) odoon Hhs8mo Sirkodkn.
Sol:  && HoeHdecho y? =4x ........ (1)
y?=4ax, & reyr da=4=a=1
&8 By y—2x +5=0= y=2x-5
Soaeed m=2.
e m=2 e EOALE B dSrodore &%) Dordecho cBJaéZT oo HES0
y:mx—2am—am3 = y=2x-2(D2)-12P3 = y=2x-12 =2x-y-12=0

5. o8 o83oekechyd) éé&o@éé 5/4 wand, ol Hodkni)) w8STeSedhe éé&o@ﬁé BP0,
Sol:  e= 5/4 58a5» Sodhory ©HTHOHD) &BolBE e) wHp

1 1 1 1 16 9 2 25 5
SElm—— o=l o=l = s =T e =2
€1 (5/4) €1 €1 25 25 9 3

1
—+

2
J‘w dx 5 8B0L0&.

1 - cos2x

J-1+coszde:J1+cos2x

28in2X

cos X
_—j dx
sin?x  sin?x

2

dx

Sol: 1—-cos2x

:%J(cosec X + cot? x)dx

2

1
= —J.(cos ec”x +(cos ec?x — 1))dx

= %J(Zcos ec?x — 1dx

=J.cose02xdx —lJ.dx =—cotx —lx +c
2 2
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7 I . dX % KBoBod
: xlogx[log(logx)] OOk,

1
—dx=dt

Sol:  log(logx)=t = logx x

s = J% =logt+c =log(log(logx))+c

(Va-vx ) dx s, sgosot.

=]
S —

Sol: I=j.(\/g‘\/;)2dX =T(3+X—2\/;\/;)dx
0 0

2 a

X 2 2 2 2 2 2
=| ax+——2Ja=x/x =242 ia2=6a t3a”-8a” a

2 3 b 3 6 6

/2
9. J cosllx dx?& BP0,
0
/2
Sol: n&® ﬁo%pé 8:903326&‘33&49 J cos™ xdx :wgl
0 nn-2).. 3
/2
T costxax - AO®OWD 256
0 ADONTHS)(3) 693
dy 2y
10. o Zy@wégy P FES ElPS0SE»

dy 2y dy 2dx dy dx
Sol: &8 etes ssteEy T = = == j?= 2j?

dx  x y X
= logy =2 log x + log ¢ = log y = log x2 + log ¢ =logy = log cx? = y = cx?

SPSe FES y = cx?
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6

11.

Sol :

DED-29

—_——

(2,3) SoEo sotr X +y2—dx+2y-7=0 $z°R) eoworr podod I Ssmo .
SPHORS B BB S=x>+y+2gx+2fy+c=0.....(1)

S =0 o3 HF Solo C(-g, N =(23)= g=-2,f=-3

S=0 &3 HBs x> +y?—4x+2y-7=0 $% oomorr e,

s 2gg2ff=ctc' =2g(-2)+2f(1)=c — 7 = —4g+2f=c-7

g=-2,f=-3 0 P $880sns® Lo“aé’éé&oism

= —4(-2)+2(-3)=c-T=>c=8-6+7=9

g=-2,f=-3,c=9 0 (1) & HES1oSP, HRS B $&8Be0

X2+y242(-2)x+2(-3)y+9=0 =x>+y2-4x-6y+9 =0

12.

Sol:

y=mx + ¢ o3 $8¥0p X2 +y* =a’ oI B A, B Dodbde 58 poloHhdn. AB =2\
wond (a2 -2AY) (1 + m?) = &2 ©Q $rHd.

&8 H3 $&088e0 x2+y2 =22, oo = 0(0,0)
y=mx +c SHES5nd Adain B $8 godohi.

OM = (0, 0) o0& mx —y + ¢ = 055 Ko oo Brdo
O

lc

Vi+m? AN M 7 ymxie

AOAM Zoo& AM? +OM? = AO?

= O0OM =

2 c? a2(1+m2)—c2
=AM? = OA? - OM? =a" - 5 = >

1+m
C2
oy PEHAB = 2AM —2.[a%-
1+m
1+
Seeodo ol AB =2, . Zh= Z,/a - ,/a( m’)—c’
1+m 1+m

2( 2) 2
a“\U+m°/)—c
=>—2=7»2 = a% (1+m?) — ¢ = A(1+m?)= a? (1+m?) — A2 (1+m?)=¢?

I+m
=S @-A) (1 +m?)=c¢c?
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13. 9 S=(1,—1), e=2/3 £:8050 JcH&Ty x+y+2=0 wond ég“%é 30880 EofPBasm.

Sol : a8 S=(1,-1), e=2/3, 36588 x-+y+2=0
B55)%0% 0BT Hothd P(x ), y)) oS &sw = SP=ePM

21x1+y+21
o kg =02 (D2 =2 AT Do 2 (g 12T = 2(x, 4y +2)2

3 2
=>9[x12 —-2X1 +1+y12 +2y; +1]=2[x12 +y12 +4+2x1y; +4y; +4x;]
= (X7 +y? —2x; +2y; +2)=2(x7 +yi +2x1y| +4x; +4y; +4)
= 9x7 +9y] —18x; +18y, +18=2x7 +2y{ +4x,y; +8x; +8y, +8

= Tx? —4xyy; + 7y} —26%; +10y; +10=0

< BG5S o8 $EESeasn Tx” —4xy+7y> —26x+10y+10=0

14. 2x2+3y2=11 5?»;69@3% y-REFd%0 11 Ko Hothde 58 égéﬁspe;, ©deondpe HBBeres
§263§8&o&.

Sol: =&y 5&5})&6&§o§3 y-Q87e5%0 1 e o othadd P(xy,y) s omro.
= P(x},1) o036 S=2x2+3y?=11 o3 85580 Dothid
=2x7+3=11=2x} =8 = x} =4 = x; =+2
o 885808 Dothides P(2,1) 8 Q(-2,1)

S=0 &5:5)z208 P(2,1) e )88 $&88e0 S=0 =2xx+3yy—-11=0

= 2(2)x+3(1)y—11=0 = 4x+3y=11

2 )0 aren —4/3 = ol whooaly Tren 3/4

5 P(2,1) 88 aren 3/4 e Ko edeoouly SwEBwo y—1=(3/4) (x—2) = 3x—4y—2=0
Q(=2,1) 5 LGB HWwEBewo S1=0 =2xx+3yy-11=0

= 2(-2)x+3(1)y—11=0 = —4x+3y—11=0 b = 4x—3y+11=0

) éa)ég_c%aa oo 4/3 = ool @deoaty Feen —3/4

Q(=2,1) &G aren —3/4 e Ko 000y SEESp0 y—1=(—3/4) (x+2) = 3x+4y+2=0
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15.

Sol:

x24y?=4 o3 ©8IT°HecHo cﬁwé&go@so, éé&o@ﬁé, Teghen, Vohd Ty $&w8Be0, Hono

FEIHo ESPod.

5D WHTHOD $088es0 x2—4y2=4

2 2
=7 - to= e a4, b2

(i) Bolo C= (0,0)

.. 2402 [4+1 [5 45
(i) &BolEs e= /a:z =E=\E=7

(iii) Seghen= (+ae,0) = (ﬁ(g ),0]= (J_rﬁ ,o)

2
= x ==

(iv) Qc&Bpe B0 X = i%

2
(V) P00 PED = 2b” _ % =1
a

—_—=
N5
2

4
X =t—
5

16.

Sol:

2n
j sin?xcos®xdx % HBoBod.

0
f(x)=sin*xcosOx @KoEKom.

aé&c‘ﬁ f2n—x) = f(m—x)=f(x)

2 L
j sin® x cos® xdx = 2J‘sin4 xcos® xdx = 2(2)
0 0

_O0IGe0](
10642 | 2

/2
J sin4 X Cos6 xdx
0

Ed
128
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d .
17. cosx.d—y + ysinx = sec’x % FHoB’.
X
d i 2x _d
Sol: &8 $&H8Beassm cos x.% +ysinx = sec? x = £+ Y(%} S:;z = —i+ y(tanx) =sec” x
X

-;'.3 éﬁbééeaéwg—y+P(x)y = Q(x) o3 ErHost Soik. 58 y & B wdson HEESHDD.
X

28 P=tanx = [Pdx = [tan xdx = logsecx

Pd
j X _ elogsecx

s IF=e =secx

9% 6% y(LF) = [(LF)Q dx
= y.secX = I(sec x)(sec3 x)dx = Isec4 xdx = J(sec2 x)(sec2 x)dx

an3x

t
=I(1+ta.n2 x)sec2 xdx =Jsec2 xdx +Isec2 x tan” xdx = tan x + +c [Q f(x) = tan x, '(x) = sec> x]
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18.  (9,1), (7,9), (-2,12), (6,10) Dothsihen SEcirer o ek, & dothde Homwdid )
$808Bmtn ELiPdde.
Sol:  A=(9,1), B=(7,9), C=(-2,12), D=(6,10) &0&%0&.
S(x1.y1) & BolBo Hssn= SA=SB=SC
AP SA =SB = SA? =SB = (x; -9)> +(y; - D? =(x, =) +(y, -9)*
= (x{ ~18x; + 80 +(yf —2y; +1) = (x] —14x, +49)+(y{ ~18y, + 31)
= —4x; +16y; —48=0= x; —4y; +12=0 ... (1)
SB=SC = SB? =SC? = (x; - 7)2 +(y; —=9)% = (x; +2)* +(y; -12)2
= (x] —14x; +49) + (y} =18y, +81) = (x] +4x; +4) + (y? — 24y, +144)
= —18x, +6y, —18=0=3x; —y; +3=0 ... 2)
(1) & (2) 0% FER HE SolgoS(x.y,) H0b.

(2) %008, y;=3x, +3
(1) =x-4(3x+3)+12=0=5x—12x,~12+12=0 = 1 1x;=0=> x,=0

X;=0 % (2) ° (Zeahre 3x; -y, +3=0= 0-y;+3=0= y;=3

L HF SoBo S(x1,y))=(0,3)

Si5pto TFBO r=SA =/(9-0)> +(1-3)% =BT+ 4 =85

529% Bolo (0,3) S0Bcsw 1 =4/85 ™ Ko HE $&08Be0  (x—a)2+(y—b)2=r2
= x-02+(y-3)2 =852 =x2+y?—6y+9=85= x> +y? —6y—-76=0
D(6,10) & P $BBee0s® (HEFZHoB
(6)2+(10)2+6(10)~76=36+100—-60—76=136—136=0

= D(6,10) 03 oo HFo B G0,

sS4 dothyen 5 &csen
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19. X2+ y —14x+6y+33=0,x2+y +30x -2y + 1 = 0 HzooH b a8 $)E0pen

Aoy o SrBo8.

Sol:  EwE® H)8 w0 X2 +y2— 14x + 6y +33 = 0......(1)

X2y +2gx +2fy +¢=0 & ey  2g=-14=g=-7; 2f=6==3;¢c=33

TG0 1 =\g2 +£2—c =/(=7)2 +32 —33 =/4919-33 =+/58-33 =25 = 5
éo@o C1 = (7g7 7f) = (7a - 3)
Bo&S HB $&088ee0 X2+ y2+30x -2y +1=0......(2)

20=30=> g=15; 2f=-2= f=-1;c=1

TGO 1y =g +12—c =\(15)2 +(~1)2 1 =225 =15

C1(7,-3), Cy(~15,1) ©3 BotHh Sogre ESvlalgiaviels)

C,Cy =N(T +15) + (=3 - 1) = 484+ 16 = /500
ao‘/b)(ﬁ) r1+1‘2=5+15=20 CICZZ’\/SOO

5 CC >, [(CCy)? =500 (1 +1p)7 =207 =4005°9% ]
9% 8 HBo BokS HBINHDH FB Jewdo SoKD.

5293 B ot é@éé;ooéa Jeenid 1%2.63&& ‘éo)égéaae» ﬁcﬁaaéiﬁaz):\i).
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20.

Sol:

) i 4
Soedechdn y2i=dax % weses Qoo P %o AOS éo)égéspeo o5098° 01,05 Feren
Sgmom. coth+eothy Dend F¥o d wond verod P o §8x $ErodS Tpp wotrdd
BrHok.

ers3g oty P=(x1,y ) @08 8w

a
y2=4ax DK TI8 m aren EOAI éo)égéao J&088o Y = MX + ;

a
& )% P(x),y)) thowe &8 ¥ =mx, T m®x; —my; +a=0
D 3o8Beassn m S° e 58 08B HOAD T Seeren my, m,  Sdodowro.

{B)E , m) = tand HOEH my=tano,.

O/PE my +m, :ﬁ:ﬂanel +tan92:ﬁ:>b:ﬁ(Qtan61 +tan 6, =b)
X

X1 X1 1
= Y1 = le

DS P(x),y]) 93 Do) y=bx oI B ot

+1=d

tan6; tan0,

88 DothdE oo cot®; +cotB, =d=

1 1 m; +m
:>_+_=d:>¥=d:>ml+m2 =dm1m2

m; my m;my

yl_da _ .. _
=—==d—=y; =ad is intheform y =k

X1 X1

Yi_42@ -
= =d—=y =ades,38 y=k &rHos® &3,
X1 X1

P(x1,y) Doosdgo 88e $Skrods Ty y=ad
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21.

Je*sin(bx + ¢)dx & fidobol.

Proof: 1= Ieax sin (bx +c)dx......... )

Qg D8 dr@o (Hsedo u=sin(bx+c) HdT» v=eX-

ax

OIPED V1=e— 08a% u' = beos(bx+c)
a

Dgrerl Ddred dr@o (Hsedo fuv=uv1—fvlu'

I=]sin(bx +¢) () dx

ax ax
=sin(bx + c)[e—]— I e_)b cos(bx +)dx = e sin(bx + ) — > [cos(bx + o)™ )dx
a a a a

ax ax
= le'rle sin(bx +¢)— b cos(bx +c¢) (e_ )— fe—(—b sin(bx + ¢))dx
a a a a

2

= leaX sin(bx +¢) — %eax cos(bx +¢)— b—zf e™ sin(bx + c¢)dx
a a a

2
= leax sin(bx +¢) —%eax cos(bx +¢)——1
a a a

2
= I[l + b—2]: izealX [asin(bx +c)—bcos(bx +¢)]
a a

2

2 2 ax
o I[ﬂ]z € - lasin(bx +¢) ~ beos(bx +¢)]
a a

ax
s = %[a sin(bx +c) —bcos(bx +c¢)]+c¢
a“+b
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22. &S ropogo n22,1, = [eot™ xdx & ©HorEde Sr@ed) ma%o&. R 00D [cot? xdx Dend
oradolk.
5]
Sol: 1, =Jcot™ xdx = [(cot™ 2 x)cot? xdx
= [(cot™ % x)(csc? x — 1)dx
=Jcot" 2 x .csc? xdx —1,_,
cot"1x
= e T )
n—1
n=4, 2,0 e Sdm (1) @@éﬁ)oém,
3 3 3
I, = _cot” x 1, __cot'x —(—cotX—IO) __cot"x —(—cotx—x)
3 3
(:ot3 X
= +cotx+x+c
n
23. stin7x.cos6x dX 4 xBo80a.
0
a a
Sol: If(x)dx = ff(a = X)X, @9 %55 Bevid.

0 0

T
sI= stm x cos® xdx = J(TC x)sm (m— X)cos (mt—x)dx
0

0

T
= J(n— x)sin7 xcos® x dx = nJ.sin7 xcos® x dx -1
0 0
/2

s 2= nJ.sm x cos® xdx = ZnJ sin’ x cos® xdx =
0 0

£ LO@INGFD] _ 32n

167

=I=
(13)(11)(9)(7)(5)(3)(1) " 3003

3003
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dy _ 2y+x+1 .
24. dx  dx+4v+3 4y+3 o3 odtod SBSntn FHoHL.

ﬂ_ (2y+x)+l

Sol: &8 ©s8ed $&nsseo Ix 2x+2y)+3

dy _dz

+2y= S 1+2
X Y =7Z ©®o» dx dx

dy _dz _
dx dx

dy _1fdz_,
~dx  2\dx

1(dz_ |\ z+1
=2l dx 22+3

dz 272+2 E_2z+2 1_2z+2+2z+3

=>——1= = = +
dx 2z+3 dx 2z+3 2z+3

%_4z+5
dx 2243

=2

2z+3
=
4z+5

2Z+3dz=dx:l 4z+6 dz = dx
4z+5 2\ 4z+5

dz =dx

il[(4z+5)+1

]dz=dx
2 4z+5

:l[1+ ! ]dz:dx

2 4z+5

=>l+l 1 dz =dx
2 2\4z+5

J(%Jr%(%ls)dzjzjdx

z 1
Z4+—log(4z+5)=x+c
:>2 3 g

X+2y

1
= +§10g[4(x+2y)+5]:x+c [Q z=x+2y]

= 4x +8y+log(4x+8y+5)=8x+8¢c
=8y —4x +log(4x+8y+5)=8c





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /OK
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 2400
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages false
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 2400
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages false
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 2400
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages false
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


